ICS 103-071- Quiz5
Question 1: (7 points)
What is the output of the following programs

	#include <stdio.h> //2 points
void swap(int x, int *y) {

  int t=x;

  x=*y;

  *y=t;

  }

int main() {

 int x=5, y=10;

 swap(y, &x);

 printf("x=%d, y=%d",x,y);

 return 0; }
	  x=10,  y=10

	#include<stdio.h>  // 3 points
void strange (int a[],int *b,int *c,int *d) {

a[*b]=*b;

 *b=*b+2;

a[*c]=*c+1;

*c=*c+1;

*d=*d-1;

}

int main(void){

int x[3]={2,1,0},i;

strange(x,&x[0],&x[1],&x[2]);

for(i=0;i<3;i++)

printf("%d\t",x[i]);

return 0; }
	 4   3   1

	#include <stdio.h> //2 points
int main(void){

int x[4]={5,9,3,1},i,t;

for(i=0;i<4;i=i+3) {

t=x[i];

x[i]=x[(i+2)%4];

x[(i+2)%4]=t;

}

for(i=0;i<4;i++)

printf("%d\t",x[i]);

return 0;

 }
	3     1    5     9


Question 2: (3 points)
Write a logical function check that receives two parameters; a 1-D array of integer values, and n representing the number of values in the array.  Your function will return 1 if all values are divisible by 5, 0 otherwise.
int check (int x[], int n) {

int i;

for(i=0;i<n;i++ ) {

if(x[i]%5!=0)

  return 0;

// else return 1;  this is a very common mistake.  If you do this, you are

// checking only 1 element from the array which is the first element.  The //question says all elements divisible by 5

}

return 1;  // if I come to this statement means that for all iterations i%5!=0 //is false which means that all values are divisible by 5

}







